Mesures : les capacités – 3ème

Effectue les calculs suivants 

	½ l + ½ l = ______

½ l + ¼ l = ______

¼ l + ¼ l = ______

½l + ¼ l + ¼ l = ______

¼ l + ¼ l + ¼ l = ______


	1 l – ½ l = ______

1 l – ¼ l = ______ 

½ l – ¼ l = ______ 

1 l – ¾ l = ______ 

1 l ½ - ½ l = ______

	¾ l + _____ = 1l

½ l + ______ = 2l

¼ l + _____ = ½ l 

2/4 l + ______ = 1 l

1 l ¼  + ______ = 2l


	1 l - ______ = ¼ l 

¾ l - ______ = ½ l

2 l - ______ = 1l ½ 

1 l - ______ = ½ l

3 l - ______ = 2 l ¼



	1 l = ______ x ½ l

1 l = 4 x ______

½ l = 2 x ______

2 l = ______ x ¼ l

3 l = ______ x ½ l


	______ x ½ l = 3 l ½

______ x ¼ l = 2 l ¼ 

______ x ¼ l = 2 l ¼

______ x ½ l = 4 l

______ x ¼ l = 2 l ¾ 



	1 l = ______ + ______ + ______

2 l = ______ + ______ + ______ 

1 l ½ = ______ + ______ + ______ + ______




